Algebra 2 5.6

Evaluate functions using(synthetic substitution)
Determine whether a binomial is a factor of a given polynomial
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; . synthetic substitution (synth. division)
Emmp le 1 5’{"th“6 oubstitution direct substitution (order of operations)
If fix) = 2x* — 532 + 8x — 7, find f(6). Follow directions
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Use synthetic substitution to find f(3) and f(—4) for each function.
4. f)=x3—-22—x+1 - 5. f(x) = 5x* — 622 + 2
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How do | know whether something is a factor?
Ex: is 6 a factor of 5227
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FACTORS OF POLYNOMIALS Divide f(.r@
by x — 4. <
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depressed polynomial
factor theorem (R=0)



OLTT® Facor Theorem

The binomial x — a is a factor of the polynomial f(x) if and only if f(a) = 0.



Z MY Use the Factor Theorem
Show thatx + 3 is 3 factor of x* + 6x? — x — 30. Then find the remaining factors

of the polynomial. How many more should there be?
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Given a polynomial and one of jts factors, find the remaining factors of the

pol ctors may not be binomials.
6\x —x2 —5x — 7. 2 —3x+2x—1
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ZEUAEY Find-Al Factors of a Polynomial
GEOMETRY T f the rectangular prism 4 v

is given by V(x) = x® + 322 — 36x + 32. Find the i (.)(__} )
missing measures.
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